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A.python —¢ EVa - ILETEIY21—INDY—RIT7AINBZTREBFTEELLIDLSICEITTES
B. V% —7)4%—D5|8lF. sysEYa1—)lDargsBETERETES
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DAY=V —%TIT3IClE. 77MI&isFv 7% (WindowsTILCtrl+Z) Z AT 3H
quit()ZANT 3

3. XFIDEZREUTESTWERHDOEEIRLTLLZEZW (1D2IR)

A.s = "It's OK."

B.s = '"'"'"1. one\n2. two'"''
C.s = 'one' 'two'
D's = IIIIHi!IIII

4.(3J’K0)ITIR) ReRITUCEREUVLTERRS NS BOZERLTES W
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it = "telescope"
print(it[6:]1 + it[2:5])

A. telescles
B. copeeles

C. opeles
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D. scopete

5.name[-3:-1] DETHEREMN"al"IchD &=, nameDERAEE L
TELWHDZERBIRLTLEE W (1D3EIR)

A.name = "small"

B. name = "calorie"
C.name = "aluminum"
D. name = "oriental"

6. XRDA—RZETUEBEREUVTERRINDZDBDZEIRLTLIEEZ W
(1D3&1R)

chl "
Ch2 ||3||
print(chl * 2 + ch2)

A.5
B. 23
C. 113

D. 123
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A. XFHNEARGET, VARNDBAREKTHS
B. XFIFAI AT, YA NBIREGRTH S
C. XFMEFAREHKRT, YANIAIEKRTHS

D. XFIEAREGFET, UANSRERFTH S
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(123&81R)

month, day = 12, 24
a, b =day + 1, (month + 1) % 12
print(a, b)

A.131

B.13 25



C.251

D. 2513

O.RODIA—RZEFTUEBEREEUVUTERRINDDBDEREIRLTLLEEET W
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types = ["float", "int", "str"]
for t in types:
if len(t) == 3:
print(t)

int str

float int str

int
str

float
int
str

10. ROOA— R ZRTUTHARKI SfaRDRRINDEE. ZHOICADS
TREUVUTELWHBDZERIRL T2V (1D:&EIR)

numbers_1list = [[1, 3, 5], [1, 2, 31]
for numbers in numbers_list:

print(numbers, end=" ")
®
(B9 2HER]

[1, 3, 5] All numbers are odd
[1, 2, 3] Even numbers found



for number in numbers:
if number % 2 == 0:
print("Even numbers found")
else:
print("All numbers are odd")

B.
for number in numbers:
if number % 2 == 0:
print("Even numbers found")
break
else:
print("All numbers are odd")
C.
for number in numbers:
if number % 2 == 0:
print("Even numbers found")
else:
print("All numbers are odd")
D.

for number in numbers:
if number % 2 == 0:
print("Even numbers found")
break
else:
print("All numbers are odd")

NRDODOA—RZETUEEREUVTERREINDZBDZEIRLTLEEW
(1DZER)



def calc(value, x=2):
return value *xk X

print(calc(2, 3) x calc(3))

A.9
B.18
C. 36

D.72
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def greeting((, @):
for message in messages:
print(message, *koptions)

greeting("Hello", "Good bye", end="! ")

A. @ xmessages @ xoptions
B. ® *kmessages @ kx*koptions
C. ® xxmessages @ *xoptions

D. ® xxmessages @ xkoptions

13. XKD 1—RDZEHO., @. ®ICADIHDEBOHEAEHLEEULTE
LWHDEFEBIRLTLIZE W (1D2IR)

def greeting(®, /, @, *, ®):
pass

A.QOREDH @ UEXIFEF—T—KR @ F—T—KDH
B.OEDH® F—T—KRDH Q@ UBEXcFF—T—K
COF—T—RDHOQUEDH @ MEXIFF—T—K

D.O UEFWEF—T—K QUEDHO® F—T—KD&H
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def greeting(xmessages, to=None):
pass

A.greeting("Hello")
B.greeting('"Hello", to="Taro")
C.greeting(to="Taro", "Hello")

D.greeting("Hello", "Good bye")

15. R0 11— KR %Z3EfTUTcarrot, tomatoNRREND &=, EFEOIC
AZERE ULTELWHDZEZIRLTL ZE W (1D3FER)

vegetables = ["carrot", "tomato"]
OptlonS — {Ilsepll: ||’||}
print(®)

A.vegetables, options
B. vegetables, xoptions
C. xvegetables, xoptions

D. xvegetables, sxkoptions

16. ROA—RZETUEEREVTERRINDIDDZEIRLTLIEZ W
(1D3EFER)

address = ["hokkaido", "mie", "akita"]
address.sort(key=lambda s: len(s))
print(address)

A. ['akita', 'hokkaido', 'mie']
B. ['hokkaido', 'akita', 'mie'l
C.['mie', 'akita', 'hokkaido'l]
D. ['mie', 'hokkaido', 'akita'l
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A MTHICERGRRBELREZEL
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C.#HEzeE<IHE. 2TRICFHFMBHAZE<

D. it E LT, MU UAEYRIERABZREEZEL

18.ROI—RZFETUEEREUVLTERREINSBEDOZEIRLTLZEW
(123FER)

vegetables = ["tomato"]
vegetables.append("carrot")
vegetables.append("potato")
vegetables.reverse()
vegetables.pop()
vegetables.pop()
print(vegetables)

Al
B. ['carrot']
C. ['potato']

D. ['tomato']

19. RO A—RZE T UEEREVTERRINSBDZEIRL TS EEET WL
(1D3EFER)

print([[3 % i + j + 1 for j in range(3)] for i in range(2)])

A.[[1, 2 3,4,5,6]]
B. [[1, 2, 3], [4, 5, 6]]
C.[[1, 2], [3, 4], [5, 6]]

D. [[1], [2], [3], [4], [5], [6]]

20.RDOI—KRZRTLT{2} {2, 3, 5, 7, 9, 11}IHKRTREIND
EE. EHO. QICABERDOHEAESLEEUVTELWEDZFEIRLT
<rEEW (1D:FER)

odds = {3, 5, 7, 9, 11}
primes = {2, 3, 5, 7, 11}
print(®, @)

A.® primes ~ odds @ odds & primes

B. ® primes ©~ odds ® odds | primes



C.® primes - odds ® odds & primes

D. ® primes - odds ® odds | primes

2. 74272 aFIVDEMAEEULUTESTLWEHDEBIRLTLIEE W
(123FER)

A. {"carrot": 80, "tomato": 100}
B.dict("carrot"=80, "tomato"=100)
C.dict([("carrot", 80), ("tomato", 100)])

D.{k: v for k, v in [("carrot", 80), ("tomato", 100)]1}

22. ROA—RZXTUTHFI2RBRINIERRSIND EE. ZHOICA
ZEMREUVTELWSDZERFEIRLTLEE W (1DFEIR)

vegetables = {0: "carrot", 1: "potato", 2: "tomato"}

for kv in :
print(kv)

(3759 5 #ER]

(0, 'carrot')
(1, 'potato')
(2, 'tomato')

A. vegetables
B. zip(vegetables)
C.vegetables.items()

D. enumerate(vegetables)

23.ROA—REZETUTCTrueNRRINZ EE, ERHOICADERE
LTIELWEDZERBIRLTLIEE W (1D:EIR)

temp = 22
print(®)
A.10 <= temp < 20
B. temp >= 10 or temp < 20

C.temp >= 10 and temp < 20



D. temp >= 10 and not temp >= 20 or temp < 20

2, RO A—RZZETUEERE U TERRSIND2DDZEIRLTLES
L (1D&EIR)

comparel = "carrot" < "tomato" < "potato"
compare2 = [3, 2] < [3, 1, 4]
compare3 = (3, 1) < (3, 1, -1)

print(comparel, compare2, compare3)

A. False False False
B. False False True
C. False True False

D. True False False

25.RDIA—RZIEBICETTEDEE,. EHOICADERE UTE-
TWBHDEZBRLTLLEZT W (1D3EIR)

import math
from math import pi
from math import pi as pai

print(®)

A pi
B. pai
C.math.pi

D. math.pai

26. TiLDT « L7~ UER Dtodo_app/\y 7 —IZE WK T, baset)
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todo_app/
__init__.py
model/
__init__.py

base.py



A. import base
B. import model.base
C. import todo_app.base

D. import todo_app.model.base

27. openBA D E— R51# (251 OEFHELTE>TWLWBERHDZE
RUTLEEW (1DFIR)

A. E— R3IBIERRTE AW
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28. RO A— REFETUEEREUVTRREINZ I —%BIRLTKE
=LY (1D3ER)

print(python_version)

A. NameError
B. TypeError
C. ValueError

D. SyntaxError

20 RODA—RZETUEERE U TRREINDZBLDZEIRLTLES
L (1D&EIR)

numerator = 1
denominator =
try:
result = numerator / denominator
except ZeroDivisionError:
print("division by zero")
else:
print("executed else")
finally:
print("executed finally")

0



executed else
executed finally

division by zero
executed else

C.

division by zero
executed finally

division by zero

30, ROA—RZIEFRICETTCEDEE, EHEOICADEMREUTIEL
WHEDZEZEBIRLTLIEZ W (1D&ER)

def divide(numerator, denominator):
try:
result = numerator / denominator
except ZeroDivisionError as e:
raise ValueError("Illegal argument") @ e
else:
return result

try:
result = divide(1, 0)
except ValueError as e:
print(e)

A. as
B. from
C. in

D.with

31.RO I— R THINETE T —IR—ADERTUIBZETLUEWE =,
ZHEOICADERE UTIELWEDERBIRLTLIEE W (1D3&EIR)

# T—AN—2DOEENIE
# Bg

print("Open DB")

try:
# TR —ZADINIE



# B
®:
# T—RIN—OETNIE
. #HOBR
print("Close DB")

A. close
B. ending
C. finally

D. terminal

R2.RKOIDA—REEFTURERE U TIRRINDZLDEEIRL TS
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class Pathl:
def __init_ (self, dirs):
self.dirs = dirs
self.sep = "/"
def join(self):
return self.sep.join(self.dirs)

class Path2(Pathl):
def __init__ (self, dirs):
super().__init__(dirs)
self.sep = "\\"

pthl
pth2

Pathl(["home", "taro"])
Path2(["users", "taro"])

print(pthl.join(), pth2.join())

A. home/taro users/taro
B. home/taro users\taro
C. homel\taro users/taro

D. homel\taro users\taro

3B.ROD—KREZZETLTO 1 1 2 35 8HARRESNDEE, ZHOIC
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def fibonacci(limit):
i, j =0, 1
while i <= limit:
® i

i, 3=13, 1+]



for i in fibonacci(10):
print(i, end=" ")

A. push
B. return
C. send

D.yield

3412 o)s:E Va—)LOEBEEUTE->TWEEDERBIRLTLEZW (1D
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A.os.chdir(#&#%&) ThLY T LI NUEZBETES
B.os.pwd() TALY T4 LI NI EBIETES
C.dir(os) CosEYV1—ILOLEULZIETES

D.help(0s) TosEY 2 —ILDANIITEHERTES

5. RDT77A)file.pyZeERTLT['buy', 'milk'] 2/3MFRS
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import argparse

parser = argparse.ArgumentParser()
parser.add_argument('"task", nargs="+")
parser.add_argument("--date")

args = parser.parse_args()
print(args.task, args.date)

A.python file.py buy milk 2/3
B. python file.py 2/3 buy milk
C. python file.py —--date 2/3 buy milk

D. python file.py —-date 2/3 "['buy', 'milk']"

6. XDT77AINZEETUREEESNEBEINIRBTEUTIELWLWE D ZZE
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from datetime import date

def date_str(year, month, day):
"""To string from year, month, date.



>>> print(date_str(2024, 2, 3))
2024-02-03

dt = date(year, month, day)
return dt.strftime("%Y-%m-%d")

import doctest
doctest.testmod()

A.print(date_str(2024, 2, 3))%&XR{TE89. AMEHEF v LWL
B.print(date_str(2024, 2, 3))%3fTE 9. docstringh’H 2 %eF v I 9%
C.print(date_str(2024, 2, 3))%ZxETL. IZ—HIRETEINESHETZFIVvITS

D.print(date_str(2024, 2, 3))%&®R{TL. HHH2024-02-03EAUNESHEF T VI TS
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A.csvEYVa21—I)IE. ALY RY—=RBRETFERINTWBCSVERD 7 7ML ERHAEZTTED
B.email/V\y T —Jld, BFAXA—ILDTI—RKPAYS Z7ONIIDNEBREX Yy E—I DEBENTES
C.json/\y o —E, JSONFERDT—4 ZLEMIC/IN—RXTES

D. sqlite1®Y 2 —J)LId. SQLZEWTSQLiteT —IR—XAEEH T3

38.ROIA—REZETULEREUVTRREINDHDEBIRLTKES
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import logging

logging.warning("Key not found")
logging.critical("Key not found")
logging.debug("Key not found")
logging.error("Key not found")
logging.info("Key not found")

CRITICAL:root:Key not found
ERROR:root:Key not found

CRITICAL:root:Key not found
DEBUG:root:Key not found
ERROR:root:Key not found



C.

WARNING:root:Key not found
CRITICAL:root:Key not found
ERROR:root:Key not found

WARNING:root:Key not found
CRITICAL:root:Key not found
DEBUG:root:Key not found
ERROR:root:Key not found

391; :)Wy REZFDEHBEEUTE->TWEREDZERIRLTKEZW (1D
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A.pip install ——file requirements.txtid. requirements.txticieiRENz/\y T —I %44 VX~
—I)Lg 3

B. python —m pip install —-upgrade pipld. pip@EFRZ1 VA= 3
C.pip uninstall pyyamlU&. pyyamlz 7>+ YA =)L (HIER) 33

D.pip freeze > requirements.txtid, 1 YA r—=)LENfc/\y T —I—BZ{ERK L.
requirements.txtICIFET %
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A 1—H5F 4 Lo ~JD.python_historylCATDE XN UIMRESI NS
B. kiR NicA 5 —TFU %5 —& LT, bpython®IPythonH'#% %
C.ifXEDTOYINTHITIDE, 1TV MDEFNICEAZIND
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